19 11 28

19 12 D
« ) 56
(L=2.84km)
56 17
50%
56 17
780m3/sec(1/50) L=2,840m
780m3/sec(1/50) L=2,840m
2,400,000 2,400,000 0
1,887,000 1,887,000 0
330,000 330,000 0
183,000 183,000 0
4,756m 4,756m
6 2 6 2
!
44.7%
44.6%

99.8% H19 3




70

100% 80% 100% 80%

20% 20%




(856 H.17)




O
7
O
134 40.4
10.3
O
13.0 37.0
16.4
|
11.6 39.0
15.0
O
6.2 36.3
13.0
O
28.1
(|
921
10.2
26.0% 39.0% 28.1%
13.7% 40.4% 34.2%
13.0% 37.0% 30.8% 8.9%
11.6% 39.0% 31.5% 6.8%
u —
6.2% 36.3% 40.4% 8.9%
- P
(.19 24.0% 41.1% 13.7%
10.3% 41.8% 31.5% 7.5%
0% 10% 20% 30% 40% 50% 60% 70% 80% 90%  100%
O ] (] O O |




